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X5 5 = B
EZELUEEEEH 13,902 A| 14,485 A| 28,387 A
BEEH 7,054 A 7,460 A| 14 514 A
RER LHEEERK 4,374 N 4,459 X 8,833 A
HEAMREER 2,642 A 2,976 A 5618 A
TEEREEHR 38 A 25 A 63 A
ZHEER 6,848 A 7,025 A| 13,873 A
BEE 50. 74 % 51.50 % 51.13 %
=5
X5 5 = i
EELHFEEN 29 A 24 N 53 A
BEER T A 2 A 3 A
MR LAREEH 0 A 0 A 0 A
HERTREER 0 A 0 A 0 A
TEEREEN 0 A 0 A 0 A
ENNEERREEHR 1T A 2 A 3 A
BEFREEN 0 A 0 A 0 A
ZEER 28 A 22 N 50 A
BEE 3.45 % 8.33 % 5.66 %
EXR+7ES
X5 5 =z i
EXLUAHESEH 13,931 A| 14509 A| 28,440 A
BEER 7,055 A 7,462 A| 14 517 A
ZEER 6,876 A 7,047 Al 13,923 A
BEE 50. 64 % 51.43 % 51.04 9%




